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ZH:(4000) @l =il F:(4100) 21 2RI TH 2t & (4110) ISR TH 22| Mg (4111)lgtel el NIAIEE: (120) B & = I (=3[ dE]

F

2 = S i)
of b o A 2 ol =
e = of & % = A
4000 [= 176,621 & 504,686 X ! 0]
L 681,307 2,238,076| 1,556,769 [DI 0 = 0 0 ]
4100 [= 176,621 & 504,686 X 0 2 0]
DI T 2t 681,307 2,238,076| ~1,556,769| [7I 0 =2 0 m 0 ]
4110 [= 176,621 & 504,686 X ! 0]
DIErR Y L2t 681,307 2,238,076| 1,556,769 [DI 0 = 0 0 ]
4111 [= 176,621 & 356,606 X 0 2 0]
I 533,227 1,350,071 ~816,844) [J 0 =2 0 m 0 ]
100
=RUPS, 92,271 83,667 8,604
120
2 AL 92,271 83,667 8,604
201
et H| 61,201 60,327 874
61,201 60,327 874(01 L2
o Yut42H| = 7,150
2222 ¥ MAl = 11,905
cegsd = 6.710
SEEL = 9,650
ool 2| = 3,530
o A& BHIK X = 22,256




ZH:(4000) @1 42| 2h:(4100) 21t I 22l & (4110) ISR TH 22| Mg (4111)el ek 2te) NIAIEE: (120) B & = I [E2E][ER: ]
o = SIS - im)
of &b o A 2 ol =
.8 NE . MAE = of & M = oA
202
4 Hl 23,750 14,080 9,670
23,750 14,080 9,670/01 =LH048l
oo AREX = 23,750
203
gL=4l 2,400 0 2,400
2,400 0 2,400/03 AlZF=&HL=EH|
cRIYAAD AIMEX = 2,400
301
2LetEAZ 4,920 9,260 A4,340
4,920 4,920 0/10 BAIAHI2 &S
cRlgely YEM FAX A
5,0002 x 300% x 23l = 3,000
oI 2ZAL AHI24 40,000& x 3% x 162 = 1,920
200 [= 176,621 &= 264,335 Xl 0 = 0]
AR O] &F 440,956 1,266,404 825,448 [JI 0 = 0 m 0 ]
210 [2 176,621 & 113,835 X 0 = 0]
S EAY 290,456 1,208,252 A917,796 [l 0o = 0 u 0 ]
308
XX EHHI S 290,456 250, 109 40,347
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ZF:(4000) 21842 HI 2H:(4100) 12| T 22 & (4110) DI SHR TH LH 2 2] MIE: (4111) 018t 22 MIAIEE: (210) 2 ALY EEMEEERCE]
ok = 7S I R == ] m}
O]l At o At = J| =
I 2 S MIE. NIMIE =2 O]l &b oM = A 2
o1&
290,456 250, 109 40,347 101 X SHHBABE2
oQlaAS S P A 70,0002 x 200 = 14,000
(=) 14,000
cOIURERIUHEDS
10,0009 x 3,7179 x 51% = 18,957
(2) 11,151
() 7,806
oDl =ANE AW Ba
190,000 x 170Y x 51% = 16,473
(2) 9,690
() 6,783
oY NESEHUASY
150,000 x 1,202 x 23| x 51% = 183,906
(2) 108, 180
() 75,726
ofltte S22y 7,000,0002 x 16JHAI2 x 51% = 57,120
(=) 33,600
(%) 23,520
220
KR AFSS 150,500 58, 152 92,348
308
XX SHH S 17,500 7,500 10,000
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XD(4000)QIHRIHI B:(4100)D1EITY giar0REATURR NE: (4R HeRe HIAMIE: (120)
n =
o o EI= N T ] )
X2 NS KIME = N N
4112
el 148,080 883,005 739,925
100
2 A0 79,080 106,088 £27,008
120
EPCET] 79,080 106,088 A27,008
201
ST 31,480 58,488 £27,008
31,480 58,488 A27,008/01 2Er2H|
oYutag|
oznzea ¥
cegsy
o3|
202
of bl 39,800 39,800 0
39,800 39,800 0/01 =UHoiHl
olBRIYRER
SOl EAAREX
203
SEESIN] 2,400 2,400 0




T:(4000) 21 RIHl  B:(4100)SI SRRl B:(4110) RIS K2 Mg (4112) KLt 2tel MIAIE: (120) 2 4 = Z b 2] Y]
2 = S I == e i}
of &b o A 2 ol =
.8 NE . MAE = Of & % = oA
2,400 2,400 003 Al E=XHRFTY|
offtate] YREAY| 2,400
301
UBEAD 5,400 5,400 0
3,000 3,000 0110 HAIAHIEZAS
oRIMHUNSEE S I 4l 3,000
2,400 2,400 012 JIEtE A2
oQEAY BSEY ST U 24
50,0008 x 2% x 33| x 8 2,400
200
INE=LCIPN; 69,000 781,917 AT12,917
220
XER At 69,000 781,917 AT12,917
206
M2l 2,140 2,200 ABO o THHIHHI AHIER W2 2,140
1= 60,0002 x 200H 1,200
of OF gt 30,0008 x 200H 600
ZSe 17,0002 x 200H 340
308
XX SRS 66,860 94,500 A27,640
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T:(4000) 21 RIHl  B:(4100)SI SRRl B:(4110) RIS K2 Mg (4112) KLt 2tel KIAI! - (220) Kt HI AL 2 &e]
L = S == S i}
of &b o A 2 ol =
.8 NE . MAE = Of & % = oA
0l &
66,860 94,500 A27,640(01 RXISHBABES
o2 SHAIZAY 6,000
x4 3,000,0008 x 1HAIZ = 3,000
& 2,000,0008 x 1HAIZ = 2,000
2 1,000,000 x 1HAIZ = 1,000
oAlRlotH R RS 60,860
CANQIHH 2B 2 AN D]
4,0002 x 4,105% x 13l x 50% = 8,210
CARID BGHE RSS2 S
300,000 x 20904 SIS x 50% = 31,350
ot 2
100,0008 x 200 x 13| x 50% = 10,000
STl ol PR P Y
40,0008 x 56570 x 50% = 11,300
A& & 681,307 2,238,076| A 1,556,769
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